i
I
T
Tl
P=ai
I

1. ¥4
EHL R K SO BHE IR A 275
BT AT BRI R4 THSHF 1 =

2. ¥HENRE

1) HEI4 BEEEWIIEGAT  wesinKiR
2) JBATHIM 296 HH H &% 74 5H22H

E 4Ffn 84 3H13H

3) it
ARFEF T, AKCSUBLIEE S BRI S X FEREWIR 1 S5 B AT PN 00 /K ST T4 A
THE (BMTELIALEPLGAMTIHELI2A31HET) KBNLETF—% DR
ERELZITI DO TH D,
Flo, 6 EEOEEWHIKEIMED L VELODTDDOT —ZEIHLEITH b
DTHbH,

4) EBNE
K SCE A — 2
R — 2

-1- EtrEE T R



PRGN ER

¥EBL | BEHENACUEME HE R AR ER S
H H K ST
HA - T - FE5 B {7 B & 4 %A OB N AR
IR AL 2V 1 7,448, 731
IRICE BHE =X 1 5,312, 783
IR R 2V 1 5,312,783 | FHiiEf
1 EW
HAlT — & i B v
1 X
H FAR O S FLRAT
1 X
BLAE OWISEFZE
1 X
BLAIE O 1E
1 X
FEYERRAT
1 X
Rt RlOER
1 X
Wt E RO ER
1 X
IR T — H = ARG
1 B
ISR T — H = ARG
1 B
K R = 1 1,710,715
K BEVEIETT — & R =X 1 1,304,565 | HECLRLEMRAIERE -7 — #{LiFEE
1 =
BT — % ORIE
1 =
A - FERIER
1 =

-1- EtrEE T R



Tl
P

=
=

¥4 | BEEHENACUEEMEYE ALY ER i WEES
H H KL
B E I % i 3 B {7 # 4 %A A BN R
EEWKEHET — 75 = 406, 150 | KEHEKR LV E LD
1 =
WA EERK =X 425, 233
e % 425,233 | WEEIER
1 A
B2 S = 245, 400
B3l = 245, 400
FTous X 245,400 | &
1 =
[ERETES = = 231, 642
RS = 231, 642
ik A = 114,642 | fic#y (FitE - E\RE)
1 =
%%E}Z%lﬁlﬁzﬁk% it: 117, 000 %%Eﬁ%%f’?ﬁi%
1 =
(X3 he = 7,925, 773
EiEEF g = 6,014, 227
SER R = 6,014, 227
=R = 13, 940, 000

EtrEE T R



